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<ul>

<li>F AR - v —F

<p>

<math>
<msqrt>
<mi>x</mi>
<mo>+</mo>
<mn>1</mn>
</msqrt>
</math>
</p>
<li>Z 7R (ZaER)

<p>

<math>
<mroot>
<mrow>

<mi>x</mi>



<mo>+</mo>
<mn>1</mn>
</mrow>
<mn>3</mn>
</mroot>
</math>
</p>
<li>n FER

<p>

<math>
<mroot>
<mi>a</mi>

<mi>n</mi>

</mroot>

</math>

</p>
<li>#FRE - L
<p>

<math>
<mn>3</mn>
<mo>+</mo>

<mi>i</mi>
</math>
</p>
<li>> 7= (BH| o)

<p>

<math>
<munderover>
<mi>&sum;</mi>
<mrow>
<mi>k</mi>
<mo>=</mo>
<mn>1</mn>

</mrow>



<mi>n</mi>
</munderover>
</math>
</p>
<p>
<math>
<munderover>
<mi>&#x2211;<!--N-ARY SUMMATION--></mi>
<mrow>
<mi>k</mi>
<mo>=</mo>
<mn>1</mn>
</mrow>
<mi>n</mi>
</munderover>
<mrow>
<mi>f</mi>
<mo>&#x2061;<!--FUNCTION APPLICATION--></mo>
<mfenced>
<mi>x</mi>
</mfenced>
</mrow>
</math>
</p>
<li>=FE8% (sin / cos / tan)
<p>
<math>
<mi>sin</mi>
<mo>&#x2061;<!--FUNCTION APPLICATION--></mo>
<mi>x</mi>
</math>
</p>
<p>
<math>
<mi>tan</mi>

<mo>&#x2061;<!--FUNCTION APPLICATION--></mo>



<mi>&theta;</mi>
<mo>=</mo>
<mfrac>
<mi>b</mi>
<mi>c</mi>
</mfrac>
</math>
</p>
<p>
<math>
<mi>cos</mi>
<mo>&#x2061;<!--FUNCTION APPLICATION--></mo>
<msup>
<mn>60</mn>
<mo>&#x2218:<!--RING OPERATOR--></mo>
</msup>
</math>
</p>
<li>~x7 v
<p>
<math>
<mover>
<mi>v</mi>
<mo>&rarr;</mo>
</mover>
</math>
</p>
<p>
<math>
<mover>
<mi>b</mi>
<mo>&#x2192;<!--RIGHTWARDS ARROW--></mo>
</mover>
</math>
</p>

<p>



<math>
<mover>
<mi>AB</mi>
<mo>&#x2192;<!--RIGHTWARDS ARROW--></mo>
</mover>
</math>
</p>
</ul>
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